1)

2)

5)

6)

18A

D =RT = D =45 mph x4 hrs. = 180 mi.

D 36 yds.
=RT ®* R=——= —— =1/2 ypm
D=R i 72 min. ¥e
D 36 yds .
D=RT =T=——1—-= =
B 12 ypm 3 min
—_—
_
Dg=Ds
ReTB =RsTs

Rp=60
(60)(9) = (50)(Ts) 4—[ Tg=9
540 = 50 Ts Rg=60-10=50
10.8 = Tg =10 hrs. 48 min.

6:00 AM + 10:48 = 4:48 PM

—_—h
_— >
D1=D2

R1T1 =RoT:

i & R{=45
(45)(T1) = (35)(T1 + .4) <-— Rp=35
45T1= 35T + 14 =Ty 4
10T =14
Ti{=1.4hrs.

D=RT = 45(1.4) = 63 mi.
_—
—_— >

Dg=Dy

RgTg=RyTy

ee Rg=55
(55)(5) = (Ry)(4) «{ Tg=5
275= 4Ry Ty=4
68.75 mph

18B

D 336 mi.
= SRz = -
1) D=RT R T T 56 mph
D 21 mi.
2) D=RT = T=——x-= =
) R 3.5 mph Ghrs:

3) D=RT =D =4.5fpm x 120 min. = 540 ft.

4) <
e
Dc=Dw

RcTc = RwTw
Tc=.3
(50)(.3) = (Rw)(3.75) 4—{ Rg=50

15 = 3.75 Ry T 375

Rw = 4 mph

D=RT = (50)(.3)=15mi.

—
5)
—
Dyo=Dye
RyoTJo = RueTue
(4)(2) = (3)(Tye)
8= 3Tye

Ryo=4
«[ Rje=3

Tyo=2
Tye =2 2/3 hrs. or 2 hrs. 40 min.
D=RT = (4)(2)=8mi.

6) _— >
-—
D1 =D2

R1Ty=RoT2
D1=R1T1=9
=

Ro=15-3=12

9=(12)(T2)

To =.75 hrs. or 45 min.

2) D=RT =D=7kmh x4 1/4 h=29 3/4 km

D 10 km
3) D=RT 2R=T=W=62/3km/h
4 - 5) 420 m
DL =Dv

D =Dy

RLTL =RvTy Ry=R_ - 10

(60)(7) = (50)(Ty) %{ Ry=60-10=50

420 =50 Ty TL=3:30-8:30=7 hrs.

8.4 hrs. =Ty

Ty =8 hrs. + (.4 x 60 min.)
Ty=8:24, 8:00 AM + 8:24 = 4:24 arrival

2

6-7) :
D =Dy
DL =Dv Ty =5:00 PM - 8:40 AM
RLTL =RvTy =81/3 hrs.

RL(7 1/2) = (R - 6)(8 1/3)«| T_=5:00 PM - 9:30 AM
6(15/2 R = 25/3 R|_ - 50) =71/2 hrs.
45R, = 50R, - 300 ~Ry=R_-6
-5RL =-300 = R =60
Ry=60-6=54 = Dist. = (60)(7.5) = 450 m

or (54)(8.33)

g) 12,500%s, 1ton

7 X 5.000755, = 6.25tons

9 3 100cm _
_‘T’"\(— 340 cm

5007, T 1ft. 1t
10 5 2
) T X7 X 1298 X 12¥% g T

im im

X 7000w * T000 ™G

1) 14,oo1omx1r1nq

.014 m2

4val.  4ws | 951

12 -
)1X1‘96L-X1‘qk 15.2 |
75TRQ A4in.
18) [P = 30i
) 7 X TR 30in.
1 & 12 O _ 16
co 28 co 28
C _ 12
0 16
15y Mo _ 16
1204 28
16 -1,204
Mo = — =27 _
o =5 688 g
M
16) _ e 12
1204 28
12.1,204
Mg = :
c o 516
5 9
17) C= — (F-32) > = C=F-32
9 5
—9— C+32=F
5
Na 23 23
e, T e . e 7 00
8) oGl "+ sa - ooT%
19 LA = 60.3%
) NaGT - Bg - 60-3%
20) [8]2/3 =4

081-v8l suonnjog



18D

D 1750 yds.
T D=RT =T T Y :
) R = 7000 yds/h ~ | /A hre

(If R =500 yds./30 min., then R = 1000 yds./hr.)

2) D=RT =D=12m/hx9/4 h=27 mi.

D 16
3) D=RT T =
) = R 55mh 6.4 hrs.
jet ski
4-5)
Da =Dwm
Ra = 24 kph
RATA = RmT,
4.4 THIM Rwm= 20 kph

(24)(Ta) = (20)(Ta+ 1/4) <
24TpA=20Ta +5
4Ta=5,s0Ta=11/4
Tm=11/2hr.

D = (24)(1 1/4) or (20)(1 1/2)
D =30 km

Tm=Ta + 1/4 hr.
L (15 min.is 1/4 hr.)

canoe
6-7)
Da =Dwm
Ra(Tm+ 1) = RmTm
6(Tm+1)=75Tw ¥
6Tm+6=75Tyn

6=15Tm
4=Ty =Ta=4+1=5

D = (6)(5) or (7.5)(4)
D =30 km

Rm = 7.5 kph

[RA=6kph
Ta=Tm+1

8) _78Uute_ " 1 gal.
1 s

= 19.5gal.

9) 105,600 N 1ton -
1 o 6oz, * 2,000T6s, oS Ons

10) 72&1)( 1?qx L] SR

Ty Ty,

11y _100Rm,  Tkm  1000m 1000 m

1 1 oY Feaq_
100,000,000 m2 or 1 x 108 m2

13) 15w, 1.1 yds.

3 X Y =16.5 yds
14 2 H _ 2
NH 1 T 3
NH 1
T 3
15 M2
NH 1
Need H and are given NH
H
16) 2 H
NH 1 32
(32)(2) = H => days of homework = 64
1 2Z + 3Y
17) — =
) X zZyY
zY 1
(e % =
2Z + 3Y/ X
bo_zy
27 +3Y
18 . = - = 60%
) KON ~3+12+14 5 - 00%
19) N__ 14 5159
KCN 65

20) ®=i4() or (2)(2)(i) = ())() =i

18E

2) D=RT = 18 ypm x 15 min. = 270 yds.

D 525 yds.
3) D=RT > R=———_=-""_ -
) T = Zmn, - oYM
S —
4-5)
D =Dg
RrTE=RgTa RF =500
(500)(3.5) = (Rg)(5) *[ Tr=3.5hrs.
350 = Rg Tg=5hrs.
D = RETE=(500)(3.5) or D =RgTg=(350)(5)
D =1,750 mi. D =1,750 mi.
6-7) -
Dg=Dr
RgTe =R1TT Fig.= 35U
Tg=Tr+ 10

(50)(T1+ 10) = (70)(TT) < Rr=Rg + 20
50 TT+500=70TT

Rt=70
500 = 20 Tt
25=Tt
Tg=Tr+10=25+10=35
17 gals, 47gte, 2 pts.
8) x —=E>_ _ 135 pts.

(R L= N

9) 1‘qt\x 2 pts.

1 - = 2pis.
10) 2yd§x 1yd\x 1vd\x 36 in. " 36 in. X 36in.
T T Ty Ty Ty
= 93,312in.3
11)5.6&11 Tom  Tesy 10mmX1OmmX10mm
1 %1 i Tom.  1omL  1omL
= 5,600 mm3

4 i< =18.02 gts
g N _14 P8 57
NF3 71 NF3 71
N _ 14
F3 57
15 _Mn__ 14
2,059 71
My = 14X 2,059 _ 456 ¢
71
M
16} ——b ez 97
2,059 71
MF:MX?—?‘O59=1,6539

17) (F+32)=%—C - _g—(F+32)=c

C 12 12

1 = =
g CFxCl 12+38+70 120

Clo 70

2 _ - '~ _583%
CFaCl; 120 °

19)

20) 7 - 5i

—— =10%
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